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XI.OT o BIO-3

Name: ¢ (.y - Now@) W Roy Section: ¥ | - N rege.Nol y [\ [0l |
One Mark Test - 3
Standard XI
BIOLOGY
Time : 1.00 hr. : : Marks : 50
BIO-BOTANY
Choose and write the correct answer : : 50x1=50
1. Regarding the meristems, which statement is wrong?
‘a) Ground meristem gives rise to all tissues except epidermis and vascular strands :
b) ' Procambium gives rise to primary vascular tissues
¢) Secondary meristem is responsible for secondary growth
. d) Primary meristem differentiated into primary permanent tissues : : D
2. Find out the mismatched pair.
Type of sclereids Example
a) Osteosclereid - Pisum
b) Trichosclereids - Nymphaea
¢) Asterosclereids - Crotolaria
d) Brachysclereids - Pulpof Pyrus D
3. Axial parenchyma and ray parenchynia are the two types of :
a) Phloem parenchyma b) Prosenchyma :
¢) Stellate parenchyma d) Xylem parenhyma D
4. All the following are living. Except :
a) Collenchyma b) Phloem sieve tubes ¢) Tracheids and vessels d) Companion cells [:I
5. Bulliform cells are present in the epidermis of e
a) monocot leaf b) dicotstem c) dicot leaf ; d) monocot stem [:I ;
6. Reentry of water from the vascular bundle, back into the cortex is prevented by :
‘a) passage cells b) border parenchyma - ¢) casparian strips d) subsidiary cells D
7. Phloem occurs on both the outer and inner sides of xylem is called .................. vascular bundle. .
a) conjoint " b) bicollateral ¢) collateral d) concentric [____]
8. Vascular bundles are scattered in the parenchymatous ground tissue is called .
a) eustele : b) atactostele = . ¢) amphivasal d) leptocentric D
9. Idioblasts are atype of .............. .., which store resin, tannins, crystals of calcium carbonate, calcium
oxalate : :
a) angular collenchyma - ' b) annular collenchyma ; _
¢) lamellarcollenchyma . d) parenchyma I—_—J
10. Albuminous cells in Conifers are analogous to ................. of angiosperms and it is also called
go e
a) passage cells, bulliform cells ' b) companion cells, silica cells
¢) parenchyma, sieve cells » d) companion cells, strasburger cells

- 11. Thismineral is essential for fixation of nitrogen by enzyme nitrogenase
a) cobalt b) boron ~ ¢) molybdenum d) manganese
12. Thisisnota primary metabolite : .
a) protease b) curcumin -~ ¢) lacticacid d) proline

mfinin
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13. Starchisa storage polysaccharide made up of repeated units of ............ and amylopectin.

-a) glucose b) saccharides ¢) amylose d) lactose D .
14. Glycogen is a storage polysaccharide presé’nt in all. Except : ;

a) fing b) livercells ¢) brain d) skeletal muscles l:l
15. One of the following statement is incorrect : : :

a) Sucroseisareducing sugar b) Herbivores can easily digest cellulose

¢) Polysaccharides also known as glycans d) Peptidoglycanisa heteropolysaccharide l:] :
16. Thisisa cell wall deficient bacteria called mycoplasma which lack............... in its cell membrane.

a) lecithin b) cholesterol ¢) lipid d) glycerol D
17. Antibodies are complex i i with specific regions of attachment for various organjsms.

a) mucoprotein : b) glycopretein _¢) lipoprotein d) amyloprotein l:‘
18. Salivary amylase activity is increased in the presenceof.......inui ions. :

a) Zinc b) Copper L ¢) Manganese d) Chloride ‘ I:l
19. Lefthanded type of helix is seen in :

a) . B-DNA b) Z-DNA ¢) A-DNA d) C-DNA a2

20. A unique enzyme called anaphase - promoting complex cyclosome causes degradation of the key regulatory
proteins at the transition of metaphase and anaphase is

a) cellullase b) ligase : c) pectinase d) peptidase
21. Pairing of homologous chromosomes takés place duting. oo isknownas..............

a) leptotene,chiasma b) zygotene, synapsis

¢) pachytene, synapse : d) diplotene, crossing over

i

22. Which statement is incorrect regarding the endomitosis? : 3
. Chromonema do not separate to form chromosomes
- II. No sprindle formation here : :
II1. Occurs in the salivary gland cells of Drosophila
IV. Asaresult giant chromsomes are formed

a) ILIV b) LIII ¢) LIV : d) None l:l
23. Theamount of DNA in the cells of G, is : ; e
a) 1C B} ey se. d) 4C f
24. Reduced rate of RNA and protein synthesis is seen in
a) G, cells b) G, cells ¢) G, cells : d) Scells =
- 25. The morphology ofa chromosome can be easily studied during the :
a) prophase b) metaphase ¢) anaphase d) telophase l:l .
BIO-ZOOLOGY
1. Under normal physiological conditions, every 100ml of oxygenated blood can deliverabout ............. of O,
to the tissues :
a) 4ml © b)5Sml 4 ¢) 10m/ d) 15m/ =
2. High concentration of carbonic anhydrase is present in the '
a) Plasma b) WBC ¢) RBC d) Plasmaprotein [ ]
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3. Nitro gen narcosis arises when a person _ : R
a) ascends quickly.upinadeepsea b) moves quickly from sea level to elevated area
¢) descends deep into the sea ~ d) moves quickly to the foot hill D ;
4. The enzyme carboxy anhydrase catalyse which reaction? : : 3
L. CO,+H,0- H,CO, . H,CO, —CO,+H,0
III. H,CO, - HCO3 +H* : IV. HCO, +H* - H,CO,
a) LHL IV b) LILII c) IL IIL, TV d) LIL I, IV ' |:|
5. Thehormone erythropoietin is secreted by : ’ ' :
a) lungs b) liver c) p1tu1tary ~ d)kidneys D
6. Addiction of this substance acts as stimulant and makes the heart beat faster. ~
a) alcohol . b) smoking ¢) nicotine d) drugs : [:I
7. Inflammatory condition of the lungs is called :
a) Emphysema b) Pneumonia c) Bronchitis = d) Pulmonary edema I:]
8. Methaemoglobin does not bind with o ' ‘
a) carbon dioxide b) oxygen ¢) carbonmonoxide  d) sulphurdioxide D
9. Partial pressure of carbondioxide in tissuesis :
a) 45mm Hg b)40mmHg ¢) 85mmHg d) 159 mm Hg B
10. TV+IRV isthe formulato findout.................. of the lung. : :
a) vital capacity : - b) inspiratory capacity
c) total lung capacity : ~ d) inspiratory reserve volume
11. Assertion(A) : Lungsexpands and contracts by the movement of the ribs, mtercostal muscles and diaphragm.
Reason(R) : Lungs do notcontain muscle fibre. j

a) Both(A) and (R) are correct. (R) is the correct explanation to (A)
b) Both (A)and (R) are correct. (R) is not the correct explanation to (A) .

©) (A)iscorrect (R) is wrong : d) Both (A) and (R) are wrong .
12. Skinis the respiratory structure seenin : _ :
a) earthworm B) sponges ¢) coelenterates ; .d) flatworms [:l
13. Assertion(A) : Therate of breathing in aquatic animal is slow than land animals.
Reason(R)  : Theamount of dissolved oxygen is very low in water compared to the amourit of 0 oxygen
in the air.

a) Both (A)and (R) are correct. (R) is the correct explanat1on to (A)
b) Both(A) and (R) are correct. (R) is not the correct explanationto (A)

c) (A)iswrong,(R)iscorrect - - : d) (A)is correct, (R) is wrong l:l
14. Thisisnota extracellular fluid ; : % .

a) interstitial flid ~~ b) plasma : ¢) blood d) lymph - [[]
15. Because of the absense one of the following, RBC accommodates more haemoglobin which carries more

oxygen

a) nucleus : b) mitochondria ) endoplasmic retlculum d) all the above ,:] ‘
16. The human O blood group is called universal donor because they

a) lack WBC  b) lack antigen o ¢) lack antibody d) lack Rh antigen l:l
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